
Answer on Question #79718 – Math – Algebra 

Question 

7+11+13+19+...99+95=? 

Please explain with formal structure and give details. Please also give the description of the 

shortcut ((7+99)/2)*24.  

Solution 

7 + 11 + 13+. . +95 + 99. 

 𝑊𝑒 ℎ𝑎𝑣𝑒 𝑝𝑎𝑖𝑟𝑠 𝑜𝑓 𝑛𝑢𝑚𝑏𝑒𝑟𝑠 𝑡ℎ𝑎𝑡 𝑔𝑖𝑣𝑒 𝑎 𝑡𝑜𝑡𝑎𝑙 𝑜𝑓 106:  7 + 99 𝑎𝑛𝑑 11 + 95. 

𝐼 𝑡ℎ𝑖𝑛𝑘 𝑡ℎ𝑒𝑟𝑒 𝑖𝑠 𝑎 𝑚𝑖𝑠𝑡𝑎𝑘𝑒 ℎ𝑒𝑟𝑒 𝑎𝑛𝑑 𝑡ℎ𝑒𝑟𝑒 𝑠ℎ𝑜𝑢𝑙𝑑 𝑏𝑒 15 𝑖𝑛𝑠𝑡𝑒𝑎𝑑 𝑜𝑓 13 ; 

𝑠𝑜 𝑤𝑒 ℎ𝑎𝑣𝑒 12 𝑝𝑎𝑖𝑟𝑠 (𝑤𝑒 ℎ𝑎𝑣𝑒 𝑎𝑛 𝑎𝑟𝑖𝑡ℎ𝑚𝑒𝑡𝑖𝑐 𝑝𝑟𝑜𝑔𝑟𝑒𝑠𝑠𝑖𝑜𝑛 𝑤𝑖𝑡ℎ 𝑡ℎ𝑒 𝑐𝑜𝑚𝑜𝑛 𝑑𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑐𝑒 𝑜𝑓 4, 

 ℎ𝑒𝑛𝑐𝑒 
99−7

4
+ 1 = 24, 𝑖𝑛 𝑜𝑡ℎ𝑒𝑟 𝑤𝑜𝑟𝑑𝑠, 12 𝑝𝑎𝑖𝑟𝑠). 

So, let us have 12 pairs of numbers that together give 106, 106+106+106,…, that is,12 times, 

which gives 106*12 or 
(7+99)

2
∙ 24 and it is equal to 1272. 

Answer:  1272. 
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